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By a mmsw against one’s will, etc.  — 5913 ;o712 bya NIMOLRa

OVERVIEW

The X713 explains that the fourth similarity (according to 2"9) between 13
D°72Y WY 2°w1, which is not found by P TP, is by 2"va mmhw. There is
a dispute between "1 and NMOOIN as to what the X773 1s referring to.

= D72y YNINYI DIYI 202 VY 112 NP 22N ©IVNIPA V9
>'"w9 explained: and this is what the Xn>72 taught, there is this similarity

between 2972 YWY 2% WO exclusively that does not apply to 1w17°p. The
Xn» 11 is discussing a case -

= 9NN Hyan NN ORI NI HYa IBEN NDY AV AT NYYY
where the mY2 was appointed against the will of both the 7wX and the

72v.". In such a situation if the master desired he may reconsider and retract
the va and the MW “ww. This according to "7 who maintains that it is a 271 for the 72v
to be free (and obviously by the 7wX it is a 2 for her to be nw7n), therefore the mow
could not be 71217 the MW W for the 72V -

= NI 21T NIIYTIND ATINT 23 HY ONT PWITHA 12 PRY N
This is not the case by 127> which is (also) 2"¥2 of the 7wX; even though
that here too by 1W17°p the prospective y2 may retract the PwITp W

before it reaches the woman, nevertheless it is not similar to these (v"v11").
In the case of ¥"w1 1"x the reason the Y¥2 may be I is because it is a 11 for them? and
the 5w cannot be 1217 the W for them until it comes into their possession literally.
Once however it does come to their possession the 7w takes effect; to divorce the WX
and to be 7w the 72v. By 1w171p 0w however since it is 0713 Hv3, against her will, the
7vw never takes effect even after it reaches the woman’s ‘hand’. A person cannot be w7pn
a woman 2"¥2 (as opposed to MW 7PY17°A which may take place 5"va of the 72y AwKX).
Therefore the reason the %¥a can be 7117 from the Pw17°P has nothing in common with ")
¥"w). By 1w7p the Hva can be i because since it is 3"v3, there is no meaningful Ww
TYVITP.

mooIn disagrees with >"wA.
= 7aPa 9INT 1T 9113 1929 1NN TYa MNPHWA 99991 INT INI) PN)

and it does not appear that this is the interpretation of the X713, for if we
are discussing a b2 which is known to be against their wills (of the

"It is assumed that the 7wX and the 72v do not wish to be divorced or freed respectively. (From msomn
subsequent question on "7, it appears that this is how 19010 understood *"wA.)
* In general it is a 21 for them, and particularly in this case where it is known that they oppose it.
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women and the 72v), the 1139 will also admit to »"7 that the NTX may

retract the M nw “vw from the 72y (if it did not reach him as of yet) -
- 10919 5¥3 15 1991 PPN

And one may not acquire the MY 7w on behalf of the 72y against his

will. The argument between 7327 ", is only when we do not know the wishes of the
72y. Then the 7127 maintain that generally it is a M27 for the 72¥ to be freed. Therefore one
may be 727 the Mnw “ww for the 72y, since 17192 XYW 27XY 121. However when we
specifically know that the 72¥ does not want the 1w, the 13127 will agree that 72va 1N
since it is a 217 for him in this specific case.

mooIn offers an alternate explanation
= 919905 HYa MNOYW RN NYN) 72247 19957 HNIIN 19929 W99 AN

And the explanation of the n'' is more appropriate, that since by 72y

and the 7wX (who is being divorced), the nim»w there is against their will;

the 72y and 7wX need not be consulted by the Hv2 to send them their respective N vw -
=997 D7D N ITIND NHYN 0 NAT 19997 MIND 9152 PRT NIMIN 1IN

I might have thought that the 5va cannot retract for since it came into

the ‘hand’ of the m¥»w, it is as if it came to the woman’s hand who is being
divorced (similarly it is as if came into the hand of the 72v) -
- 25¥Y DD PRY 195
Since the 7wX) 72v cannot prevent the m5w from giving them the Tvw. The W is
effective without their consent. Therefore as soon as the ya gave the 7w the “ww, it
seems inevitable that the 7vw will ultimately become effective, for the 721 WX cannot
prevent it. There seems no reason why the 9¥2 should be able to be nn. All that is
required on his behalf was done; there is no stopping this process.
= 9NT XRVIYD NN DY PRT PYITP AN
However by 12175 where the transaction cannot take place against her
will; 1v17°P must be with the woman’s consent, it is obvious that he may

retract his offer of Pw1°p. When the PP 0w left the master, it was in no way
inevitable that the w1 7P process will be culminated. It depends on the consent of the
woman. Therefore since the sending of the w17°p 7VW is only the beginning of a process,
the prospective 9¥2 may retract, as long as the woman did not willingly accept the -ww
Tw17°R. Therefore the 77111 by ¥"w1 1" is different than the 7711 by PWTp.

mooIn anticipates a certain difficulty with this interpretation. According to the 11"7 by
PWI7P the %v2a can also be 1. The reason why it is not similar to ¥"w1 1" is because by
TWIT°R it is obvious that he may be 7111 Why did not the X713 say so? Why does the 73
say that it is PYI7°P2 RN°Y, meaning that it does not exist by 1217°p when in fact by PwI7Tp
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the 5¥2 may also be 21n? MdOIN responds:
= PYITPA VITIN NPYT 1391 PYITPA NNPYT XN

And the expression ‘an item that does not apply by P217°p’, means that

there is no novelty that by °@7%? he may retract. In the case of PP it is
obvious that the %2 may retract, since it depends on her consent as well, as previously
explained.

mooin asks a question:
= 192497 92°9N YAIN NN NN JYAT NYT MY DY

And there is a difficulty; let the Xin teach us that there is an additional
similarity between ¥"v1 1" in a case of 2'"wa; where it is permitted to send
them a 7wX vi and a MNINY VW even against their will, and there will be

four similarities between ¥"21 1" even according to the 333>, It will also be a
PYITPA RNODT RN since an WX can be nwTPn only with her consent. Mmoo does not
answer this question.

SUMMARY

According to >"w1 the term 2"va min>w refers to the fact that it was known
that the Mmm°%w was against their wills. In all three cases the ¥2 can be nn.
There is a difference however. By ¥"u1 1"2 he can be 7111 because it is a 211
for them. By 1Pw17p he is 7111 because there was no real Pw7p 0W.

mooIn argues that if it was known that the 7w W was 3"v2 of the 72V the
1127 would agree that 72v2 0.

mooIn follows the explanation of the 11", By ¥"w1 1" there 1s a w171 that the
%¥2 can be N, since they cannot be 210¥n. By Pw11°p however where it must
be 1Ny, so obviously the ¥2 can be mn. There is no w171 that he can be
7nn. A question remains, however, why did not the 2’1217 also say that there
is a fourth similarity, namely that by ¥"w1 1"3 it is 2"¥2; however by 717 it
must be 7Ny,

THINKING IT OVER
Is mpoin last question connected to the 1" W1d or is the same question
applicable to *"w0?*

? The difference between Mmoo question on >"w1 and his question on the 11" is: According to *"wA the
fourth similarity is equally valid for the 1127 as it is for »"1. The question on the "7 is; why indeed did not
the Xn>"2 list a fourth similarity according to the 1127 as well? See 7">w o"9n.

* See A" w "N
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